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Arithmetic Progression

(i)  Arithmetic Progressionisa, a +d,a +2d, a + 3d ... nth term is given by -
t,=a+(n-1)d

(i) Sum to first n terms of an A.P.is S, = g[2a+(n ~1)d |

(iii) If the last term I (nth term is given, then§, = g[a+l])

Geometric Progression

(i) Geometric Progression is a, ar, ar?, ... ar™! . nth term is given by t, =ar"*

(i) Sum to first n terms of an G.P.is S, = if r=1

(iii) Suppose r =1 then S,= na

(iv) Sum to infinite terms of a G.P.a+ar+ar?, ... is S :%where ~1<r<1

Special Series
n(n+1)

(i)  The sum of first n natural numbers1+2+3 ...+ n= 5

(i) The sum of squares of first n natural numbers
n(n+1)(2n+1)

6

12+22+32 . +n2=

2
The sum of cubes of first n natural numbers13 + 23 + 33 ...+ n3 =[@j

(iii) The sum of first n odd natural numbers 1 +3 +5 + ...+ (2n-1) =n?2




Part -1

The sum of three consecutive natural numbers is 3666, then find the numbers.
WAIB  DbHSBHS BUed eTaniHeNe  SmbBHeL 3666 6TeNed  DieUGIeIETIHMETS
BHTE00TH:

What is the 215t term of the sequence 100, 95, 90, 85
100, 95, 90, 85.... et O TL_Fouflenguilest 21aug o mii] eTester?

Find the sum of the first 40 terms of the series 12 - 22 + 32 - 42 +
12 - 22 + 32 - 42 + a3 OFHTLFled (pHev 40 2 mIiEHeMet dnl L BLIGVEM6TD
BHIT60TDH.

How many terms in AP 7,13, 19,
GCorsHs o milisefer eemwienidms 7, 13,19, , 205.

In an arithmetic series, the sum of first 14 terms is -203 and the sum of the
next 11 terms is -572. Find the arithmetic series.

R Sl (B OHTLFleL WPpHed 14 o mpliyseiear FmBHe0 -203 wBpid GHH 11
o mIisellel GmBHe0 -572 6160 DIGHOHTL IS HTEwIH.

In a Geometric progression t, _g t, :% . Then the common ratio is

R OUBHESGHS CHTLT auflewguied tz=g LOBWILD t3=% aefled OuTgkl aldHId

HTe0TH.

The 7th term of the sequence 0.12, 0.012, 0.0012..... is
0.12, 0.012, 0.0012..... etetiB G mL_Feuflenguied 7ougk 2 ming?

Which term of the geometric sequence 1, 2, 4, 8, .... is 1024?
1,2,4,8, ....0 1024 sreiiugy erdhHenenimalg o mii]?

If the geometric sequence 162, 54, 18,... and 83 23 g have their nth term

equal, find the value of n.

162, 54, 18,... wBmIbd 8312—27§9$<3§1m OUHBGHDH OHTLJauflengFseiet N- QoI

® mI' F06IeNed N-eT OFHIIL| SHT6wIs.

Find the value of Kif 13 + 23 + ..... + K3=44100.
Ker gy srewes:- 13+ 23 + ... + K3=44100.




The sum of the series 31 + 33 + ... + 53 is
31 +33 + ...+ 53 aretiB OFHTLfl6iT Fn{BHe0 6T6oT60T?

A gardener plans to construct a trapezoidal shaped structure in his garden.
The longer side of trapezoid needs to start with a row of 97 bricks. Each row
must be decreased by 2 bricks on each end and the construction should stop

at 25t row. How many bricks does he need to buy?

@m CoHTiLssmy gflus eaugaled Giau] @Ml SmSES S LGS
gflousshHer  HewiL (PHe0 euflengdgd 97 OsmsBaeT BHemeulBGHBH. L6
@6lOeuT(h  auflengulled GSmHUBUPLD  BTewnigIeni(h  OFRISBHET  (GHMBUTH  MEUDHD
GouewiBd. Salgaimlled 25  auflengsellpiler, o] outmis  Geuewrigul
CFRIBMBH6IM6T  6160T60NHND 615 3H6M60 !

Find the sum of 11 terms of the sequence 3, 8, 13....
3,8,13.... a3 8l BGHOSTLH6T (pHev 11 2 _miseller awmbsHeo eleoret?

Find n so that the nth terms of the following two A.P’s are the same. 1, 7, 13,
19,.... and 100, 95, 90....

1,7,13,19,.... opgid 100, 95, 90.... suxdlur A.P. ufled n - Seugk 2 @il Fob
aT601l6L, N-63T DAL HTEHIb.

A gardener wanted to reward a girl for her good deeds by giving some
apples. He gave 2 apples on the first day, 4 on the second day, 8 on the third
day, 16 apples on the fourth day and so on for ten days. How many apples
did she get from the gardener at the end of the tenth day.

BBUenl 0Fu1H @h Fpitsg uflgelss almbll CaHTlLssmT Fev oliileisemen
uflgne  oeflds  WSIUHSTT. (WHeO BTT 2 ileTdHel, @FewiLmb [BreT 4
SLITN6THET, cpeiimmd  BreT 8  oiilel&el, HTISTD BTeT 16  Sliileisel...
aeomml 10 BEIL&6T SleMsHHTT. 10 BreT (aled FFBI0 CuBmiIs CoTesi
QTHH SLLITGTH6NT 6666, ?

If the product of four consecutive terms in GP is 625. Find the first term.

@ umEEsH ML’ aflosliar SIBGSHHGHS BTEEG 2 DIiseisd OLmHHSS
CPTemd 625 6T1edl60 (LPHEL 2 MILIENLIS SHTEIb.

Rekha has 15 square colour papers of sizes 10 cm, 11 cm, 12 cm, .... 24 cm.
How much area can be decorated with these colour papers?

GramalLb 10 Qg.15, 11 QF.15, 12 GF.15,...., 24 QF.15 B LSS Slemeyeren 15
FHT QY6 GUIeNIH HTHIHIBET o 6leNedl. @b 6CUHINIDH HTH HHIHM6NSH
OaTeni(h 6eTeleueNey LTLML DML HH SevmISTEHS (1pigubd?

12+22+32+....252

122+ 132+ 142+ ...
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Find the number of 3 digit natural numbers which are divisible by 6
6 9L AUGULSBIIQUI 3 Bevdhd BUleD 6T6nTH6IT60T 6T6mT6mIHemED BHTCITS.

The first term of an A.P. is 6 and the common difference is 5. Find the A.P.
series

R F&LBSH OFTLTouflensulsd (pHed o miiy 6 wmmib Curg albHwuTsid 5
aTedlled DIHOHTLT euflengenul HTewrs.

The 10t and 18t terms of an A.P are 41 and 73 resp Find the 27t term.
R  SLBSHOSTLTauMNengulled 10 wBmId 18 Speugd 2 miiyset wpeopGu 41
LOBWILD 73 eleled 27 SIS 2 BILIDLS HT6EwIH.

In a geometric series, if the fourth term, is %and seventh term is g, then

what is the first term of the series?

R OUmEGH OHTLT euflenguler HISIBTOISH 2 ML % IOBOBILD  SIH6  JLOTAIS]

® mii gmﬁcﬂ@ Ohd aflenguile (pHe0 2 M| eTedreor?

In the geometric series 2 + 4 + 8 + ....., starting from the first term how many
consecutive terms are needed to yield the sum 1022?

2+4+8+ ..., e OUBHEGHSH OHTLMe, (1pHed o MIledHbas CHTLTFHuins
THHMDT 2 _MILILBHM6NSH Fnl I96aTTe0, FmBGHe0 1022 HlewlL &@Gb?

In a geometric sequence, the first term is %and the sixth term is 715, find the

G.P

R QUHSGHSH CFHTLTauflewgulsd (pHed LOBBID SEBTaUSH © BILIS6T (LPedmBEU 3/
1

ﬁ.mﬁcﬂm}, SIIOUHESGHS COHTLT sullengemuis HTewism.

The sides of 14 squares are 11cm, 12 cm, 13 cm, ..... 24 cm then find the total
area of 14 squares.

11 Q@&18, 12 Q15 13 Q5.5 ...., 24 5.5 HwaBens (WoBGL LSS
SleaBemeNs OaTeniL. 14 FaIgmIGeile OQLOTHS LIFLIDL  HT6wIm.

If12+22+ 32+ ....+102=385 then 22+ 42+ 62+ ..... + 202 1is
I[f12+22+32+ ... +102=385 e1adflev 22+ 42+ 62+ ..... + 202 &51 01

A rubber ball is dropped from a height of 25 m, which strikes the ground and
rebounds every times to the half of the height from where is falls sown what
is the total distance travelled by the ball to come to the rest position?
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25 6 2 wrssHedmba CurLiulL @@ SJUul UbSTEISH  elICeuT(H  (PeNBULD
saoguled Curghw UBE, alwbhsd 2 wrsHFHed LUTEH SenalBg 6L SBEH 6160160
QUIR| HmevdE aUmLCUTH SbHSH UbhFH OFam GoTHs ST el6lealeTe]?

Part - 11

The product of two rational number is _?2 If one number is g, find the other.

B alFHUpml eTewidHerlen OILIHEBMLIGOEHT _?2 G, QT 6T68T % aTedlleL  LomEmITiY

GTEMTENGITED  BITGIIS.

Write the following rational numbers in descending and ascending order.
-3 7 -15 14 -8
5'-10" 20 '-30'15 "
ettou(hd IS HUPMI elewibeneT @BmIG aflens LBHID ¢gnl auflengulsd 61(1DSHIH:
-3 7 -15 14 -8
5'-10" 20 '-30 15

4 (-3 -5 30 g 27
Evaluate: [— —(—D + (— + —j + (— X —j
3 {2 3 12 g 16

. . 4 (-3 -5 30 -12 -27
A STewid: | == — ||+ =—+— |[+]| —x—
(3 (ZD (3 12)(9 16]

What is the difference between the sum of first ‘n” odd natural numbers and
that of first ‘n” natural numbers?

W ‘N’ gmes Buied MBS FmBBINGGH (WH ‘N’ Buied  eTetberen
FBINBGHD 2 66N alGHHWTFLD 6levT60r?

The value of 3/+0.015625 is
{+/0.015625 631 AL BT6w0IH.

The cost of three mathematics books and four science book is Rs. 216. The
cost of three mathematics book is the same is that of four science books. Find

the cost of each book.

pSiIml BB  LSHSHBMIS6T LBmID BHIald SPelulsd UHHemiseler 6lorshs
alemev eh. 216, AP HWIFHL LGHHIRIS6MT alleweould bHIeG —Dimlaluied
USHSHPRIBNT alleneou|ld &0 616160, @aIGUT(H LUHHIHH N allensvenuld HTewlb.

A number consist of two digits whose sum is 11. The number formed by

reversing the digits is 9 less than the original number. Find the number.

Qb QIWIB Devbd  cTewienle  BeVHIMIGST  FnBHeL 11.  DevHBMmIHEN6NT
B omsy SimweHEGD CUTEhl SHenLSG 6lewl  (PhenHUl 6Tewienedl il 9 GHemmey
aTedlleL, SIbSH 6TeuTeneIs HeIBHLILY.
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It 4+5 4-+5

4-\5 4+5
4+\V5 4-5
4-J5 4445

=a+b5, find the values of a and b.

a+by5 srafled a WBBIL D BeuBniel WALILBM6TE ST

If A =26and B =264+ 263 + _ . 420 then find the relation between A and B.
A =20 1pBmb B =20+ 206+ . +20 galed A — &@ B- s@b @ Guiujeen
OFHTLITL HT6wIH.

There are 12 pieces of five, ten and twenty rupee Currencies whose total
value is Rs. 105. But when first 2 sorts are interchanged in their numbers its
value will be increased by Rs. 20. Find the number of currencies in each sort.
MhFH, USHH BBID Amug eputul CrhTl Bsefer GTHs wWHIY H.105 BBID
QwreHs  Crml(hoefler  elamienidamd 12 wpHew rewi® ouend  ChmL(Hoerier
oTewIebmBmUl @ TBBD CFWISTE0  (phHmsdw e el ap. 20
IFHBMNHHBGH. 61160, THHMT MbHFH, LSS LOBBID Sbusl cpurwl Gnm(Bael
D _GIT6ITGT.

The difference between two numbers is 5 and the difference between their
squares is 75, find the larger number.

B eIewiBEhHG Bl B 2 efen  Coupium® 5, DB  AITHEMIBEHHE,
B G o _eiten Coupir® 75 eedfled @eual(h eremwideriier Guflwl iy wrg?

The sum of three umbers is 264 if the first number be twice the second and

third number be one third of the first, then the second number is

LRSIl 6TEWIHOMET Fn(BHe0 264 (IpFH60 6l6wl EJewilmaudl 66wl GUTL G(H DL MG,
CLOGIIBTOUS] 616001 (LPFH6V  6TemIeuNey  cLpeiipdled (h LIMIG, 616060 EJ6RILTeUd 61600
wmg?




